  Math 102 – Test 2 (Sections 2.2-3.5) 
Name ______________________________

Always show enough work to show how you arrived at your answer.  If work is not shown, you may not earn full credit for the problem.

1.
A DVD player that originally sold for $150 is now worth $100.  Find the percentage decrease in the price of the DVD player.

2.
Solve these proportions.


a.
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3.
The triangles shown are similar.  Find the lengths of the sides “a” and “b”. 


            4                  6
       5                  a
a = ___________
                          7


b
b= ___________
4.
A five-day rental company states that the cost for renting the car is $32 per day plus fifteen cents per mile for every mile over three hundred.  A customer returns the car after five days and the odometer indicates the car has been driven 478 miles.  Find the total cost of the rental.  


Write a numerical expression for the cost and then evaluate the numerical expression.

Read the problems #5, #6, and #7 carefully and then answer the questions.


5.
The estimated gas mileage of Bill’s new car is 26 miles per gallon.  Find the number of gallons used when this car is driven 310 miles.  

Let 
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 _______________________________


b.
Write an equation that could be used to solve the problem.  (DO NOT solve the equation.)

6.
Rita has some dimes and quarters.  Altogether she has a total of forty two coins, and the total value of the coins is $8.55.  How many of each type of coin does she have?  


a.
Let 
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 the number of quarters.  Write an expression for the other unknown in terms of x:



______________ = the number of dimes.





b.
Write an equation that could be used to solve the problem.  (DO NOT solve the equation.)

7.
The length of a rectangle is three feet longer than twice the width.  The perimeter of the rectangle is 97 feet.  Find the dimensions of the rectangle.


a.
Assign the variable x to one of the unknowns in the equation.  Then translate the given information about the other unknown to an expression that also uses x.



Let 
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 _______________________________



______________ = ______________________


b.
Write an equation that could be used to solve the problem.  (DO NOT solve the equation.)

8.
Now choose one the equations from these problems (#5, #6, and #7) to solve.  Remember to answer the question with a sentence.




9.
Find the next number in each sequence.  Find the formula for each sequence.


a.
10, 20, 30, 40, ________
b.
10, 13, 16, 19, ________ 



_____________________
_____________________



formula
formula

10.
Form a three column table for the linear inequality 
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 using the values –3, –2, –1, 0, and 1 as inputs.  Which of these numbers are solutions to the linear inequality?

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	



The numbers that are solutions are: ____________________________

11.
Solve the linear inequality and graph the solution.
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12.
Find the slope, y-intercept, and x-intercept of each of these lines.


a.

[image: image8.wmf]4520

xy

-=


b.
the line whose graph is shown.



_________, ___________, ___________
_________, ___________, ___________

slope
y-intercept
x-intercept 
slope
y-intercept
x-intercept
13.
Find the equation of the line shown above in 6b.




_____________________




equation

14.
Find the equation of the line that connects the points (3, 4) and (5, –4).




_____________________




equation

15.
Solve the system of equations 
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 by graphing.



_____________________


solution

16.
Solve the system of equations 
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 by substitution.




_____________________




solution

17.
Answer the following.





a.
What number is 30% of 20?   ______


b.
30 is what per cent of 20?  ______


c.
60 is 20% of what number?  ______
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